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UGC NET PAPER 2 JULY 8, 2018 SHIFT 1 GEOGRAPHY QUESTION PAPER

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The concept of geosynctive was propounded by :
(1) Holmes (2) James Hutton (3) Hall and Dana (4) J.W. Powell

2. The term ‘Cosmography” was coined and divided into “Uranography’ and Geography by :
(1) Ritter (2) Peschal (3) Humboldt (4) Verinious

3.  Ice Crystal Theory related to precipitation was postulated by :
(1) Muir (2) Darwin (3) Bergeron (4) Boven

4.  The subsidence theory related to the coral reef was propounded by :
(1) Davis (2) Darwin (3) Dally (4) Dana

5. Gutenberg discontinuity is found between the :
(1) Crust and mantle (2) Mantle and Core
(3) Upper Core and Lower Core (4) Upper mantle and lower mantle

6.  The concept of panplain was propagated by
(1) C.A. Cotton (2) Von Rithofen
(3) Crickmay (4) Alfred Von Wegener

7.  The direction of a horizontal line on an inclined rock strata is termed as :
(1) Strike (2) Dip (3) Anticline (4) Free face

8.  Which one of the following scholars is the proponent of the turbidity Current Theory on
origin of submarine Canyons ?
(1) Salin (2) Gregory (3) Daly (4) Harry Hen

9.  Paternoster lakes are :
(1) Lakes formed on glacial stairways
(2) Lakes having volcanic origin
(3) Lakes formed by a shallow stretch of water caused by sea erosion
(4) Crescent shaped lakes formed due to cut-off of a river meander
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“The present in the key to the past.” This phrase is related to the concept of :
(1) Isostasy (2) Diastrophism
(3) Plate tectonics (4) Uniformatarianism

Which -one of the following instrument is used for determination of degree of stability or
instability of an air parcel ? |

(1) Viscometer (2) Radiosondes
(3) SONAR (4) pH meter

Given below are the two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Select your answer from the code given below :

Assertion (A) : Antarctica is constantly snow-covered but receives less than 8 cm annual
precipitation,

Reason (R) :  Constant speedy wind blow in Antarctica.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

Which one of the following types of plate boundaries and motions are exemplified by the San
Andreas fault of California ?

(1) Transform boundary with Sinistral motion
(2) Transform boundary with dextral motion
(3) Divergent boundary with sinistral motion

(4) Convergent boundary with dextral motion

Match the List - I with List - IT and select the correct answer from the code given below :

List - I List - I1
{(Thornthwait’s Temperature Provinces) (T/E Index values)
(a) Mesothermal (i) 16-31
(b) Microthermal @@ 1-15
(c) Taiga (iii) 64 - 127
(d) Tundra (iv) 32-63
Code ;

(d (b (o (d)
() @) @ €@ @

@ 6 @ @@
G) @ G () @
@ @ O @ @
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Which one of the following latitudes is known as the ‘Calms of Cancer’ ?
(1) 66¥2°S (2) 66%° N (3) 25°N (4) 25°S

Match the List - I with List - IT and select the correct answer from the code given below :

List - I List - II
(Instrument) {Measured entity)
(@) Sling psychrometer i)  Soil density
(b) Pedometer (i) Radiant energy
(c) Spectrometer (ili) Relative Humidity
(d} Pycnometer (iv) Distance

Code :

(@ (b) (o) (d)
(1) @@ @v) @ ()
(2) (i) (v) @) (i)
@) (@) @) @ @
4 @& @ @Gv) (i)

The American climatologist C.W. Thornthwaite revised the scheme of the classification of
world climates in which one of the following years ?

1) 1931 ) 1934 3) 1941 (4) 1948

Match the List - I with List - I and select the correct answer from the code given below :

List - I List - II
(Force) (Source)
(a) Coriolis (i) Earth's gravity
(by Tidal (i) Totographic differences
(c) Friction (i) Static state
(d) Resisting (iv) Earth’s rotation
Code :
(@ () (o (9
(1) Gv) @ G @
@ v G G 6
@) W) @ (@) (@)
(9 @ O @ (@
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Match the List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Process) (Outcome)
(a) Decomposition ) CO,
(b) Transpiration (i) O,
(¢) Respiration (i) CHy
(d) Photosynthesis (iv) Water vapour
Code :
@ () (¢ (9
1) 6O @) G) ()
@ () G @ G
@) @) v 6 G
4) @) @ @ 0
Given below are the two statements, one labelled as Assertion (A) and the other labelled as.

Reason (R). Select your answer from the code given below :

Assertion (A) : The monsoon.of southern and eastern Asia driven by the location and size
~ of the Asian landmass and its proximity to the Indian Ocean.

Reason (R):  The wind and pressure patterns in the upper air circulation are associated
with generation of monsoonal flows.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.

Match the List - I with List - IT and select the correct answer from the code given below :
List - 1 List - II

(Ocean Trench) (Depth in meters)

(a) Tonga @ 7760

(b) Kuril Kamchatka (i) 10540

(c) Philippine (i) 10880

(d) Romanche (iv) 10500

Code :
@ (b (o (@

1) @ G @) (i)

(2) @) G@v) @) (@

3 (v G @ @

4) @ @ @) (G
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Which one of the followings is the main source for a vast reservoir of relatively inert nitrogen
in homosphere ?

(1) Volcanic activities (2) Fossil fuel burning
(3) Acid rain (4) Global Warming

In which of the following directions the Nazca Plate is moving ?
(1) East (2) West (3) South (4) North

Which one of the following sequences is the correct one in a littoral zone from land to sea ?
(1) Backshore, Foreshore, Nearshore, Offshore

(2) Foreshore, Backshore, Nearshore, Offshore
(3) Offshore, Nearshore, Foreshore, Backshore
(4) Nearshore, Offshore, Backshore, Foreshore

Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : In low latitudes, sea water in the deep cold zone does not freeze.

Reason (R) : The deep sea waler does not remain under intense pressure because of its
high salinity.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) {A) is true but (R) is false.

(4) (A) is false but (R) is true.

Which one of the followings is the correct average range of worldwide variations in sea
waler salinity ? '
(1) 34% to 37% (2) 27% to 29% (3) 37% to 39% (4) 21% to 26%

Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R}. Select your answer from the code given below :

Assertion (A) : Energy flow shifts from production to respiration in the entrophic stage,
with oxygen demand exceeding oxygen availability.

Reason (R) : Stratospheric ozone layver depletion causes skin diseases.
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) {A) is false but (R} is true.
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Which one of the following groups of natural elements in living matters make up more than
999% of Earth’s biomass ?
() H OC (2) N, Ca K (3) H,Ca, N (4) S H, Na

Which one of the following phenomena plays a vital role in the dispersion of majestic
dinosaurs ?

(1) Volcanic eruption (2) Zonal faulting
(3) Global cooling (4) Continental drift

The U.N. Conference on Environment and Development held in Rio de Janeiro during June
3 - 14, 1992 was chaired by :

(1) George W. Bush (2) Maurice F. Strong

(3) Tony Blair (4) Rachel Carson

Match the List - I with List - II and select the correct answer from the code given below :

List-1 List - 11
(Emitter) (Emitted Products)
(a) Decaying plants i) Carbon monoxide
(b) Volcanoes (i) Salt spray
(c) Ocean (iii) Hydrogen sulphide
(d) Forest fires (iv) Sulfur oxides

Code :

(@ ® (o ()
(1) @) G@v) @ @)
(2) (u) Gv) @) ()
@) @) @@ Gv) 0
4) @) @@ @ )

Who among the following scholars laid down the foundation of dichotomy of general versus
species Geography ? -

(1) Immanual Kant (2) Sebastian Munster

(3) Bernhard Varenius (4) Peter Apian

Which of the following pairs does not match ?
Author Book

(1) Al- Masudi Router and Realms

(2) Al - Balaki Kitabul Ashkal

(3) Al - Biruni - Kitab-al-Hind

(4) Ibn - Khaldun Mugaddimah
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The Hydraulic Slope Theory was propounded by :
(1) R.E. Horton (2) Darwin (3) Penck (4) Mallot

Who among the following scholars emphasized on the behavioural approach in
Geography ?

(1) Johnston (2) Kirk (3) Burton (4) Gregory

Which one of the following in the correct sequence of German geographers contributing to
the development of geographical thought ?

(1) Ratzel - Troll - Hettner - Peschel
(2) Peschel - Hettner - Ratzel - Troll
(3) Peschel - Ratzel - Hettner - Troll
(4) Troll - Hettmer - Peschel - Ratzel

‘The same environment carries different meanings to people with different ways of living
and culture’. This statement is related to which one of the following concepts ?

(1)  Probabilism (2) Determinism

(3)  Possibilism (4) Stop and Go determinism

Which school of thought first developed the idea of possibilism ?
(1) Russian school (2) German School (3) British School (4) French School

“The dominant idea of all geographical progress is that of terrestrial unity”. This statement
is attributed to :

(1) Friedrich Ratzel (2) Vidal-de-la-Blache
(3} Richard Hartshorne (4) Jean Brunhes

Which one among the following perspectives was responsible for redicap transformation in
the sprit and purpose of geography ?

(1) Structuralism (2) Post-modernism

(3) Humanism (4) Quantification

Which one of the following states in India recorded the lowest sex ratio as per 2011 census ?
(1) Uttarakhand (2) Tamil Nadu
(3) West Bengal (4) Himachal Pradesh
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Which one of the following countries recorded highest population density as per U.N.,
Demographic Year Book, 2010 7
(1) India (2) Japan (3) Bangladesh (4) Pakistan

Which one of the following statements correctly depicts the threshold according to Central
Place Model ?

(1) Point at which consumer movement is minimum.

(2) Distance far which consumer will travel for a service,

(3) Minimum number of people needed to support a service.

(4) Economic base of a service centre.

Which one of the following groups of states in Indian recorded Sex Ratio higher than 950
according to year 2011 census ?

(1) Andhra Pradesh, Odisha, Telengana

(2) Andhra Pradesh; Uttar Pradesh, Maharashtra

(3) Uttar Pradesh, Punjab, Andhra Pradesh

4)

( Haryana, Bihar, Andhra Pradesh
45. Which one of the following Models is explained by the given figure below :
(1) Weber's Model (2) Central place Model
(3) Von Thunen Model (4) Gravity Model
46. Which one of the following code is correctly depicting the pattern of distribution of population

among cities by ‘d’ curve in the given graph ?

—
o
L
o

Jomd
o
[l

(Population in ,000)
[
=

0 10 100 1000 10,000
Rank

Code :
(1) Primate (2) Slepped order (3) Binary (4) Rank Size Rule
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Match List - I with List - II and select correct answer from the code given below :

List -1

(Settlement Alignment)

Gﬁ
(2) 6%;%
N

® | *

@ () (© (@

(1) @@ @H) ) 60
2) @ @) @ @
@) @ @ @) @)
4) (v @) @) )

i

List - II

(Settlement Pattern)

Uniform

Star .Shaped

Linear

Cluster

prepp
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Which one of the following statements indicates to the potential use of a service at a location

according to Gravity Model ?

(1) Direct relationship to both population size and distance
(

2) Inverse relationship to both population size and distance

(3) Direct relationship to population size and inverse relationship to distance
)

Direct relationship to distance and inverse relationship to population



www.prepp.in

47, -1 GaAr-11 % W gafer ifse i) = e e 9 sw & 597 Fie

48.

-1

(&N gEer)
@ | o5
(b)

(c)
@
&

(a) (b) (<)
1) (@) @) (@)
(2) () (iv) ()
(3) @ @) (id)
(4) (v) (i) (i)

-1
(aaft )

(i) &

(iv) T=sd
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TEETEYY Hisd % HTER el | Fen w fave suam Frefafed § § SR W @ %9 W

T B ?

(1) S HE #1 TR 3R g8 A & WMy gy g

(2) SAEEN = AR SR gl SN F Ty farmda Ty

(3) THEEN % TR F WY YA T R T F WYy yhaam @y

(@) IO F Y TEg g9y iR SHEen ¥ 9y fawlia gy
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Match the List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Demographic terms) {Explanation)

(a) Cohart (i)  Birth rate minus death rate

(b) Natural increase (ii) A population group unified by a specific common
characteristic

(¢) Total fertility rate (iiiy Average number of children that a women will bear
through her child bearing vears

(d) Dependency ratio (iv) Measure in terms of number of dependants against
productive age groups

Code :

@@ (b) (o) (d)

1) (@) @) @ @

@ @ O @ @

) @ Gv) @) (1)

(@) (v G @) G

Which one of the following groups of states of India recorded more than one fourth of total

population of the country in the census year 2011 ?

(1) Uttar Pradesh, Assam, Punjab

(2) Uttar Pradesh, Madhya Pradesh, Karnataka

(3) Uttar Pradesh, Andhra Pradesh, Punjab

(4) Uttar Pradesh, Gujarat, Haryana

Among the following scholars, who introduced the concept of ‘least-transport-cost location’

using the frame of ‘locational triangle’.

(1) W. Isard (2) M.K. Bandman (3) D.M. Smith (4) A. Weber
Match the List - I with List - II and select the correct answer from the code given below :
List -1 List - IT |
(Economy) (Features)
(a) Subsistence Economy (i) Market competition as primary force shaping
the production patterns
(b) Commercial Economy (ii)y Self-sufficiency, low production and low

population density

(c) Intensive Subsistence Economy (i) Self-sufficiency, high production and high
population density

(d) Extensive Subsistence Economy (iv) Little exchange of goods and only limited need
for markets

Code :

@@ (b)) (o (4

(1) @ @) @ @)

() (v) @ @) (@)

3) (@) () (v} (i)

@ @ (v @) @
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-1 ! GeElt-11 % e gaferd wifae ik A= fou g2 d 4 T sw = 999 #ifa

-1 -1
(St oreg ) (= )
(a) TIE () T A T R
b) TFHE I @) Tafre saurTa fadmar 50 TEiEa SAEEn WE
(c) T Y & (i) i g SR LT R T 3y % AR o el @)
(d) e g (iv) SIEE Y WE W nfHal H e w1 A

@ () () (@

M @ @ @ 0
@ @ O @ W
() @ @) @) (@
@ @ @ 6 @

9Ra H T4 % 60 T § 2011 1 SIOMT % STIER 39 B el SEEA F T 9YR 4 T
HAGE TS i 4t ?

(1) W 59, HAHH, G

(2) W YW, HAYRY, FAH

(3) TR W, YWY, TS

(4) W <, T, BN

Frefafaa fagrll & @ frad eraftafy B’ @) deern (B9) &0 98m #@ g gran-uftegT-
AN et @} SguEen Qiauiag &I o ? |
(1) =g, T 2) WHE I (@) S oy (4) T W

-1 1 GE-11 F 919 gafaa L iR 119 U 1g %2 # O 9@ ST &1 997 &

eit-1 eit-11
( refemawerT) ( Fagrermr )
(a) TraiE srefereren () oo IR e e TefhEt o o e
a9 F B9 FH wt ¥
(b) aftfaes si=ran (i) FA-FeiTa, 9 IR SR F9 SIEEN T
(c) W= Frafg sreferasen (i) TR Frelan, Se Sooren o arfy SFEE T
(d) Taego frate siederearan (v) W 1 3T S-S SR SR = fak

(@ (b) (¢ (d)
@) @) @ @)
(v) () (i) (i)
() () (v} (i)
(4) (@) (@v) () ()
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Which one of the following code is correct showing number of vertices, edges and Diameter
for the given network ?
Vertices Edges Diameter
(1) 10 7 5
(2) 10 10 7
3) 10 5 6
(4) 10 8 7
Match List - I with List - II and select the correct answer using the code given below :

List - I List - II
(Whiltlesey's Agricultural Religions) (Name of Countries)
(a) Commercial Dairy Farming (i) Argentina
(b) Commercial Grain Farming (ii)y Sri Lanka
(c) Nomadic Herding (iii) New Zealand
(d) Commercial Plantations (iv) Mangolia

Code :
(a) () () (d)

1) @) @ ) @
(2) G @) () (v)
3y (v) Gi) (1) (1)

4) @) @) @ (i)

Which one of the following factors most dominants in the localisation of high-tech firms of
silicon valley in California ? |

(1) Cheap Labour (2) Access to the market
(3) High speed transportation (4) Agglomeration economy
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(1) 10
) 10
3) 10
4) 10

54.

-1

(Festt & @t wdwr)
(a) =fofas® g I
(b) SNUISIER 3T=1-SeqIeH

(c) -rmfew gn

anfonfoues qrerigw

@ O (o)

(1)
2 ® @
3)
4) (@@ @)
55,

(1) ¥&1 5™

(
oM
0

i) @ )

(3) e 7ifq afteRs

frafafed 4 @ #F @ F2 Ru ¢ eak & aféas, uas iR S %1 o gen &) quid 22

Q-1 = Geli-11 & 919 gofam &t o1 T f 7g 5 § 5 W&t S0 H 99 &

it 11
(2T &% W)
()  srifoe
(i) Al
(iii) =SS
(iv) wmfern

(2) SR @ G

(4)

QR SAefere

prepp
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Ffamiia & fafesi Sel Al STa-wi (FE-¢F) T & sarefa § fFrefafas 9 4 $@ @
PR FATF FHEf € 7
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The Rimmer model for the development of land transport system in less developed economics
was proposed in which of the following years ?
(1) 1975 (2)y 1976 (3) 1977 (4) 1978
The formula P1= Yln_Tln where Pl = Agriculture Productivity Index ; Y = Total production
of selected crops in unit Area; Yn= Total production of same selected crops at national level;
T=Total cropped area of the unit ; Tn = Total cropped area at national scale.
Who applied this formula for measuring agricultural productivity levels ?
(1) Bhatia (2) Enyedi (3) Weaver (4) Shafi
Match the List - I with List - IT and select the correct answer from the code given below :
List - I List - I1
{Countries) (Mineral Reserves)
(@) Liberia {i) Iron
(b) Guinea (i) Uranium
(c) Togo (iii) Phosphate
(d) Niger (iv) Bauxite
Code
@ ® (© @
(1) @) @@ @ @
@ 6 @) @@ @
@) @ O @ (@)
@ @) @ O @
Which one of the following conditions Alfred Weber introduced in his concept of ‘Locational

Triangle” ?

(1) Both ‘R1’ and ‘R2’ are found universally

(2) 'RY is fixed but ‘R2’ is found everywhere and both are pure
(3) Both’R1" and ‘R2’ are fixed and pure

(4) Both 'R1" and ‘R2’ are fixed and gross

(where : ‘R1" and "R2" are two raw materials)
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o 3 foefafiea o @ frg o fomrasiicn steforaearell # 9-ufer womedt & fawm ?g disd
wfaarfea foeam on ?

(1) 1975 2) 1976 (3) 1977 (4) 1978
Bl PI=%+% el PI =514 Scresa gueis,; Y= 398 &9 ¥ | wwel 51 5o e,

Yn = TS W W 3 watE wEel o1 5ol S9ed; T= 358 89 1 98 $d 2 5@ Geiad wuel
I T W; Tn = T TR R Fa 4T 49 Tl Gafaq wael 3 T8 2

Frfafaa § 4 foraa Fia SR R #1719 %8 99 79 93 & y4m feam a7
(1) e 2) T (3) e (4) TE

FE-1 1 Ge-11 & T gafem e oin A9 fog g e 3 9 = S e w5

T - 1 =T - 11
(31) (@ aUER)
(a) TSl @ <
(b) firl ()
(c) 2 (iii) THITHS
(d) ¥R (iv) <IFEREe
FE

(a) () () (d)
(1) @v) Gi) @) @
2 O @) @) @
(3) @) @ (v) (i)
) () @ @ W)

3ehe 9y A o ‘ sraftufa B’ 1 steuron ¥ frefafad § 9 fora ww wid @ @ an?
(1) ‘RY $R‘R2 2 wrelsim &9 § 9 519 2

(2) ‘R Fa & 9t ‘R2 Yel® S8 9 SN @ SR S s 2
(3) ‘RU SRR SFi frd iR gs &1
(4) ‘Rr 3Rz <Fi frad S e (gross) &

(ST : ‘R1” 3K ‘R2’ QA == 9IA %)
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Match the List - I with List - IT and select the correct answer from the code given below :

List - I List - II
(Sectors of the Economy) (Activities)
(a) Primary (i) Research endavours
(b) Secondary (i) Train services
(c) Tertiary (iii) Pearl culture
(d) Quaternary (iv) Spinning cotton year

(@) (b) (o (d)
1 @ 6@ G )

(2) (@) G@v) @ @
@) @ O (v (@
@) (v) @) @ @

In which one of the following book/works did Mackinder in 1919 renamed his theory of
‘pivot area’ as ‘Heartland” ?

(1) World War and Geography

(2) The Democratic ideals and Reality

(3) The Round world and The winning of the peace
(4) Foreign Affairs

The Organic Theory of state was propounded by :
(1) Ratzel (2) Mackinder (3) Isaiah Bowman (4) Haushoffer

The book ‘Geography of peace” is authored written by :
(1) Mahan (2) Spykman (3) Haushoffer (4) Ratzel

Which of the following catagories does Chile belong to according to its physical shape ?
(1) Compact and elongated (2) Elongated
(3) Fragmented and elongated (4) Fragmented

Whose works epitomized the relationship or political geography with foreign policy ?
(1) Adolf Hitler (2) Friedrich Ratzel (3) Mackinder (4) Karl Haushofer
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geit-1 %1 Gei-11 % ar gafed Y ok A9 faw e e F 8 vl w1 oo

-1 Tei-11
( erdieTeRen & &7) ( wfafafemr )
(a) wafoE ()  TIEYN W
OIRESiRED () Y& Fang
GIREGIEED (i) T e
(d) =% (iv) T FaR

@ () © @
® @ G W)
(i) @v) @ @

@ @ (v) (i)
(iv) () (@) (i)

(

(2
(3
(4

B i T, S

. TretafEa 4 4 feg mw/$a 8 At 5 94 1919 § o9 fogi ' Tgae o’ &1 'wds’ % &9

H I AR o 91?

(1) =S 9R U S

2) T eofes smfeacy v dued

(@) T& usve = ds fa fofi ot o 9w
(4) W Fhad

—

. Ty Fmin = S fagia frafafas d 9 fews gro wfawfes fea mr an?

(1) === (2) wiwvet (3) T A (4) BIE9R

. T AT i e Frefafes § 9 e W e

(1) v (2) TIEHHA (3) T (4) Yes

AT IHR F ER ool frfatas § 9 fea oof & ofais smar €2
(1) wed 3R € (2) @l
(3) @fea oR diftm (4) Tfea

. Trefafeas 4 @t whel o ot e @ foew it % @y dey 9 yiafsd g

(1) wrewfeeem () HeFtmm  (3) wfews (4) Hicl BISIEL
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Match the List - I with List - IT and select the correct answer from the code given below :

List - I List - II
(Country) (Official Language)
(a) Luxembourg i) Arabic
(b) Algeria (ii) Russian
(c) Chile (iii) French
(d) Kazakistan (iv) Spanish
Code :

(@ () (¢ (4
1) ® @@ @ G
(2) @ Gv) @) @
(3) (@) @ (v) (i)
@ @) @ @ G

Match the List - I with List - I and select the correct answer from the code given below :

List - 1 List - 11
{(Names of Books) (Names of Authors)

() W.H. Durham
(

(@) Human Universals .
ii) Donald E. Brown

(b) The Social Conquest of the Earth

() Not By Gene Alone (i) Edward O-Wilson
(d) Coevolution (iv) Peter J. Richerson
Cﬂde:
@ () (& (@
1y O G G v
@ @) O G G
@) @ @) @ @
4 @ v @O @

In India, how many are the officially recognised languages ?

(1) 20 @ 21 (3) 22 @ 23

prepp
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Feit-1 91 gelt-11 % e ghfad = o A9 fou o e o 9wl sw w1 wm W

gEit-1 qEi-11
(29) ( YT )
(a) ErFIHaRT i) owt
(b) STesifen i) o
(c) el (i) 3=
(d) SR (iv) wfE

(@ (b)) (€ ()
@ @) (@) @)
(i) (v) G (@

() @@ Gv) @)
Gv) @) () Gid)

(1)
(2)
(3)
(4)

"

Feit-1 ! Ger-11 3 T gafer &t o 9 fou T e § @ S o W et

grit-1 Telt-11

( R T ) ( Ak HT W)
() T g () =T TTA
) T dva e 3iE g s @) SFeS 3. A
(c) e & S e (i) TEHE Ty
(d) HI-TEATIH (v) e . e
e

(@ () (© (@
L @ @ @) @)
(2 v @O @ (@
3) () @) (@v) @
(4) @) (Gv) @ (@)

YRd H WIER ERI 0FEdl Wi el & g fea €2
(1) 20 2) 21 (3) 22 4) 23
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Match the List - I with List - IT and select the correct answer from the code given below :

List - I List - II
(Religious Community) (Population Share (%), 2011)
(a) Christian (i) 1.7
(b)  Buddhist G) 0.4
(¢) Sikhs (i) 2.3
(d) Jains (iv) 0.7

Code :

(a (b)) (¢ (D
1 @ G @) @)
(2) (v) @) @) @)
(3) @) (v) @) (@
@) @) @ ({v) (i)

Which of the following characteristic features are possessed by the nordic race of India ?
(1) Long stature and round face (2) Medium stature and round face
(3) Medium stature and long face (4) Long stature and long face

Which one of the following statements is not correct about the selection indicators for
conducting any study of development process ?

(1) Either input or output indicators must be selected.

(2} Negative and positive indicators must not be clubbed with each other.

(3) Indicators must emerge out of the concept of development defined in the study.
(4) Indicators of income and expenditure can be clubbed together.

Match the List - T with List - IT and select the correct answer from the code given below :

List - 1 List - II
{(Name of City) (Period of being planned)
(a) Kanchipuram (i)  Post-Independence
(b) Jaisalmer (ii) Colonial
(¢) Kodaikanal (iiiy Medieval
(d) Bhilai (iv) Ancient

Code :
(@ () (o) (4

() @ @ 3@ @)
(2) @) @ @) @
(3) (@) @v) @ (@)
(4) () @) @) ()
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-1 %! geElt-11 3% Wy gafer ¢ o) TR fou 1 e F 9w s® =1 %Y

HEit-1 -1
( enfHes wHE™) (SEEn el (%), 2011)
(a) FHEE i) 1.7
(b) dis (i) 0.4
(c) To@ (i) 2.3
(d) o (iv) 0.7
G

@ ) © (@
O 6 6 G
@ G @ @ 6
() G (v @ )
@ @ 6 v G

. I # Aifes wifg (W) ¥ gy F=fafad § O 95 - 9 e 268 €2

(1) & g 3 M F80 (2) W %E IR WA =
(3) AH Y 3R T =R} (4) v FE SR T A

. Torelt famma i &) &30 & fo = geeial & an | frafafes § 8 #9-9 F99 s T8 ®2

(1) FYE I AU ATSLYE YR &l ©94 999 foan S =nieu )

(2) THRHE TR HRHAE FoAhickl bl Tk GEL ok 1Y &1 THerman s =nfeq |

(3) Yo TAfvad &Y W, steraa A uRita e i seuen | frserr =i
(4) T IR G % GAHIP] Bl Tk gL WY THEmEn < Hehan 1

. gE-1 & g1 % Wiy gaiaa B R e KU Y 5e # 9 Wl SIow 9E

-1 qei-1I

( ¥IE T A ) ( G ST ST R 3Tafi )
(a) HIEGH () TR FA
(b) ST i) stafafr w@
(c) THICTHAA (iii)y TA HA
() T (iv) WA H&
e

(@ () (© (@
(1) @ @ i) ()
(2) (W) @) (@v) (i)
(3) () @v) @) ()
4) (v) @) @G @
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73. Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : The partition of India in 1947 provided an impetus for town planning
activities in the country.

Reason (R) : Resettlement of displaced persons and providing them employment
opportunities created a big opportunity before the town planners to construct
new town and make provision of amenities and facilities in existing towns
especially in north Indian states.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

74. Which one of the following criteria was used to demarcate 15 agro-climatic regions, which
were accepted by the Planning Commission of India {(now NITI Aayog) to initiate regional
approach to agricultural planning during the Eighth Five-Year Plan ?

(1) Climate, soil characteristics, and rainfall

(2) Climate, soil characteristics, and water availability

(3) Climate, soil characteristics, rainfall and water availability

(4) Climate, cropping pattern, rainfall and water availability

75. Match the List - I with List - II and select the correct answer from the code given below :

List - I List - II
{(Name of scholars developed scheme (Number of Meso regions)
for delineation of Planning Regions)

(a) Bhat and Prakasarao i) 42

(b) P. Sengupta (i) 35

(c) C.S. Chandrasekhar (iii) 48

(d) V. Nath (iv) 51

Code :

@@ () (o) (d)
1 O @ @) @)
2) @ @) vy (@
@) () Gv) @) )
4) @) @ @) ()
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e &1 e few e ¥, ww sfiremee (A) @R g A (R) B A9 few e e # Q wdt s g

ATUFT (A) : 1947 ¥ T uRa fawrem | <0 ¥ 2= wnfm nfafafal & = fen)

e (R) : foreenfia @i % Qe 3R 3% U % 7aeR oo 9 % 1l § TR e
(213 =) & foru fasiae o 9 & T ° A vt 9 ofi faemr e
¥ gfasmd gean FT9 1 99 R wTF T

L T3

(1) (A) 3R (R) A 6t & 941 (R), (A) % G FRSN T

2)  (A) 9 (R) O W& ¥ o6 (R), (A) FT ot e T T
3)  (A) F& g, fFg (R) Tom R

(4) (A) oW g, g (R) W8 T

—

—

15 HiS-srorarat e (wi-wedfes fomw) = et s 3g Frafafeaa § @ fag o aeds
1 w2 fera Ten 59 9Ra o A A (S il SR 3 sreHl deeta AT SR F
A B AA1F gfehiv o1 3ot e & fau @i foa |

(1) @R, 3o I S e

(2) AR, G 0 SR T i IUTHA

(3) ey, ga1 7, gite SR 5 &1 STl

(4) wieEy, Bod U, gie 3R @@ @ syesm

. GEi-1 1 gEi-11 o |19 gafad iR AR fou T e § 9 S S oE &

qeEl-1 wEi-11
( Fargrit 2 = Roegi™ i gl et (FET (Meso) @At it HEAT)
TWOEGT TAN HE & TS oA 6T )
(a) WZ I THEERE i) 42
(b) . ST (i) 35
(c) HhLel. IxIet (iii) 48
(@) =ty (iv) 51
e
(@ () (© ()
1 @ @& @ @)
(2) (@@ @) @) @
(3) @) (@v) @) @)
@) (v) @ @G )
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Which one of the following criteria was used to delineate the National Capital Region for
planning purpose ?

(1)
(2)
(3)
(4)

Functional unity and Physiographic characteristics.

Functional unity, Administrative contiguity and demographic characteristics.
Functional unity, Administrative contiguity and distance from New Delhi,
Functional unity, Physiographic and demographic characteristics and Administrative
contiguity.

Match the List - I with List - II and select the correct answer from the code given below :

List - I List - I

(Dimension of development) (Indicator of development)

Economic (i) Percentage of reclaimed land to total waste
land

Social (i) Percentage of minority voters to total
minority electorates

Political (iii) Percentage of female literates to total female
population

Ecological and Environmental  (iv) Agriculture production per hectare

Code :

@ © © @
O @ 6@ @
@ @ @
@ @ 6 @
) @ @ 0

Which one of the following statements is not true about the concept of development ?

(1)
(2)
(3)
4)

Development is a continuous process.
Development is a multi-faceted process.
Development stands for growth without a change.
Meaning of development change in time and space.

Read the following statements and select the correct answer using the code given below :

(a)
o)
(c)
(d)

A Perspective Plan may also be termed as long term plan.

Perspective Plans are prepared for a period of 20-25 years.

A Perspective Plan do not ensure flexibility.

Perspective Plans ensure spatial integration of plans at different hierarchical levels.

Code :

(1)
()
(3)
(4)

Only (a) is correct

(a) and (b) ate correct
(a), (b) and (c) are correct
(a), (b) and (d) are correct
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76. TS WIS 2 U TSI 81 ot 9@ daR A &g Tefafea § 9 feg amde & wEn e
T 2
(1) YHEF Thdl SR YeIsias e
(2) TRIEHF Terd], YITEF ol SR s fagm
(3) WHERTE Wkdl, WoHTh Hera iR 7 fewet 9 gl
(4) weraleHS TRdl, eI SR SEwiferEg fasivar aun yeraties derdl

77.  GEI-1% GEi-11 % 91 gafea #1 iR A fae 7 g 9 9 W@ sm & w73 #+

-1 Her-11
(Forarra & ey ) (T & g )
(a) = () T IR 9fF B g+ SFE qfF 5 Slawe
(b) wrfys (i) o reuHEEF Fatas - o wt gen | anay §
TeM e 90 STeTEEES Al ol §E
(c) UsHifa® (i) e Algen SEEA HI GO | ARG TR B
EIGRGE])
(Q) uftfeafgnig dR vt (iv) 9 3= HiT e
L &
(@ () (¢ (4
1) @® @ @i (Gv)
(2) @@ (@) (@(v) @)
(3) @) @v) (1) @)
4) @) @) G @

78. TrefafEa § 9 9 9 %99 fawr S @y & 999 § 96 1@ © 2
(1) Towm o gda 9w B
(2) forRTd U TEHE! UEH B
(3) T = sty famn et i =t 9fs &1
(4) wHF 3N T & SR e @ ot Tew S 2

79. Frefafan s 1w o A e g 9wl e o
(@) EE A @ Seraty eE W SR S udl §
(b) T AnE 20-25 9 = oafy % foau SR w S §
(c) we drern # T T O @
(d) Syl et fafi=t daifes el o Dol o wnfres s giaiea e §
T
(1) a9 (a) Tl B
(2) () 3T (b) T T
(3) (a) (b) ¥R () WA €1
(4) (a), (b) () W& ¥
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Read the following statements and select the cotrect answer using the code given below :
Statements :

(@) Summation of ranks method is best suited to. measure development levels, when data
used are highly skewed.

(b) Summation of ranks method is quite simple and easy to handle.

(c) Z-Score method is the robust and most reliable among all the methods used to measure
levels of development.

(d) Use of Principal Component Analysis method should be avoided if inter-correlation
among different components of development weak or doubtful.

Code :

(1) (a), (b) and (c} are correct
(2) (a) and (b) are corrrect
(3) (a), (b) and (d) are correct
(4) (b) and (d) are correct

Which one of the following countries holds the first rank in commercial dairy farming ?
(1) USA (2) India (3) China (4) Pakistan

Which one of the following years the modern cotton textile mill was first of all established in
Maharashtra ?

(1) 1850 (2) 1854 3) 1858 (4) 1862

Match the List - T with List - II and select the correct answer from the code given below :

List - I List - 1I
{Name of Dams) (States)
(a) Mayurkashi (i) Tamil Nadu
(b) Mettur (i) Andhra Pradesh
(c) Nagarjunsagar (iii) Odisha
(d) Hirakund (iv) West Bengal

Code :

(@ (b) (o (d)
@ @ @ @ (b
2 @ @) 3G (@)
@) (v) @) @) @
4) @) @ @) @
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frefafad sy 1 9g &R 9 fag 70 g2 3 B wft S gET w

waA

(a) 9 MRS FII fawm g @ & e gfafy faem = il = 9 & gaites s &t €

(b) & T wfaf g9 ¥ 1E W1

(¢) Z- TR iafy ggg ¥ au I fomm & @l &1 9199 g war 8 ol searel ot wfatEl §
wEE IUgEd T

(dy g fawm & fafi ool % o9 sia-dey ek ol FeeeR 8 @ e wew favey
gfafy & wadr | s=en 9ifen)

C R

(1) (a) (b) 3 (c) W &

(2) (a) (D) WEE

(3) (a), (b) 3R (d) T §

4 (b)) TAE

Fufstae 2ot T § frettetas § & 759 39 51 999 T9F £ 7
(1) 3uHy (2) wRd (3) ©H (4) wifesear

frtetea o 4 9 o9 qerrs 7 Jeel SR sngfe gt =% fae i wome g ?
(1) 1850 (2) 1854 (3) 1858 (4) 1862

. -1 = GEA-11 % 91y gt ¢ o e for 10 %2 # 9wl SO % 9A @l

HEit-1 -1
( HTEL oAl ] ) (T T )
(a) TTERI () g
(b) A () A T
(c) FIISIA | i) e
(d) TOFE (iv) e S

@ ® © @
vy () (i) (i)
0 @ @) @)
) @) @ 0
@) @ G 6

i —_p—
e
T T
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Which one of the following dates is correct for the normal withdrawl of south-west monsoon
from Indian territory ?

(1) September,1  (2) September,5 (3) September, 10 (4) September, 15

Guntur district of Andhra Pradesh is known for which one of the following ore deposits ?

(1) Bauxite (2) Anthracite (3) Magnetite (4) Muscovite

Who among the following architect-planner prepared Master Plan for Chandigarh City ?
(1) Charles Correa (2) Frank Lloyd Wright

(3) Edwin Lutyens (4) Le-Corbusier

Jharkhand ranks third after which one of the following group of states in the availability of
coal reserves in India ?

(1) West Bengal and Chhatisgarh  (2) Odisha and Chhatisgarh

(3) Odisha and West Bengal (4) Chhatisgarh and Karnataka

Adityapur Special Economic Zone (SEZ) is famous for :
(1) Engineering and Machine tools

(2) Wool Textiles

(3) Automobile and Autocomponents

(4) Dairy products
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TR & § <fao-ufesm amygs g = fefataa o @ @9 o fafte w@ g2

(1) 1 faamr (2) 5 faa=R (3) 10 famsr (4) 15 fagwr

iy wew = i foen frefafiaa § @ fog af % saes woer & fog sfag 82

(1) SR (2) ToIERe (3) HeRe (4) WERERE

. Frefafaa § @ fog angar - fees 3 9S8 Wt o1 e e ' d9R fwm ar?

(1) A D] {Charles Correa) (2) the wifae T

(3) el e (4) eH-FEER

HIFA YUK F A H 9Ra % Frefafed 3§ 4 e oo 998 % 9) greve & o gE B

(1) a9 3R SUEg (2) oifsw iR SHierg

(3) siifsan 7 ufy=m sTa (4) DU AR TR

anferR fedre anfofar SiM (Special Economic Zone) frstfafem § 4 forais for wigg &7
(1) St 3R wei 2o

(2) I

(3) SHHISTE i A T

(4) I R
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Match the List - I with List - IT and select the correct answer from the code given below :

List - I List - 1I
(States) (Per Capita SGDP in, 000 I; 2015-16)
(a) Haryana (i) 156
(b) Karnataka (i) 115
(c) Kerala (iii) 180
(d} Punjab (iv) 146
Code :

(@ (®) (@ (@
1 @ @ @ @
@) @ @) ) @
(3) (@) @v) @ (@
@ @ O @ @

Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : India has not been able to bridge its trade deficity.

Reason (R) :  India’s exports in terms of value has been declining,

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct ex_Planation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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(1)
(2)
(3)
(4)

(=) ( wia =afaa wx it € ut, 3oR Sust, o a¥ 2015-16 )

g1

FRarm i 156
FAE (i) 115
A (i) 180
EEiC (iv) 146

(@ () (© (@
@ @ @) @)
@ @G ) O

@) @v) @ @)
v) G @) ()

Your P
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90, S Fem fau M ¥, wek iR (A) 2R THU Ak (R) §1 9 few e e F A W s g

3RIFT (A) :
% (R):
&

(1)
(2)

(A) &R (R) S W& & a9 (R), (A) T e =rem 2
(A) 3% (R) 31 W& € g (R), (A) T W& =men = §

(A) TE1 g, T (R) 7o &1

(A) T &, fohg (R) W

T YN AR 91 i A § gwe 98 W@ e

e &% 1 W wna 1 frafa sear @i 3
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Match the List - I with List - I and select the correct answer from the code given below :

List - 1

(Map Type)
(a) Chorochromatic
(b) Choroschematic
(c) Choropleth
(d) Isopleth
Code :

(@ (b) (o)
1) @ (v (@)
2y (@) @ (i)
3 @) () @
(4) () (@) (i)

(d)

()

@)

(i1)

(i)

(iv)

List - II
(Information Content)
showing regional variation in distribution by shades
area] distribution by Tints
showing imaginary lines joining places of equal value

areal distribution by symbols

On a topographical map of 1 : 50,000 scale the contour Interval is given as 10 meters. Place
‘A’ is situated on a contour of 200 m MSL and another place ‘B’ is located on a countour of
240 m MSL. The distance between ‘A’ and ‘B’ on the map is 4.0 cms. The correct gradiant
between ‘A’ and ‘B’ therefore would be :

(1) 1/30

(2)

1/40

(3) 1/50 (4) 1/60
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Feit-1 & gei-11 % 19 gafer %8 o 19w me e § 9 of ot 1 o0 &

Tei-1 get-11
(wrfers & W) ( wf=fga =)
(a) FREHCE (i) ¥ % wem | famo H d5fa ofo <vtar B
(b) By () N ¥ e Qe faa sufa #
(c) oA (i) FEA TEF % TUFEI B SST AH HRdi-oh @A H
<@Iten &
(d) S (v) Hdl % mean ¥ &g faawm

(@ () (© (@

1: 50,000 99 (TFe) & TUEFGE AAfaT § TS ofa 10 WX B e g wmE A’ O
200 HiZT TH TH TA % HHreg W g ¥ oIk U 3771 M ‘B’ 240 Hiel UF U9 TS & 9o=g W feem
T TRl R A’ @R B F A W g 4.0 WX ¥ 30 e A’ SIRVB S o T8 R
gt

1) 1/30 (2) 1/40 (3) 1/50 4) 1/60
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Which one of the following codes is correct Rn value of the given distribution of 6 settlements
of an area of gentle topography ?

1 km A,
St—>
1.2 km
=
’ N
& 5 km »
(1) 0.95 (2) 1.45 (3) 1.63 (4) 1.86

Which one of the following organisations looks after the receiving and processing of remote
sensing data in India ?

(1) SHAR Centre (2) SDS Centre

(3) LPS Centre (4) NRSC

Which onie of the following is the correct sequences of various EMR spectrum bands in an
ascending order of wavelength ?

(1) Blue-Green-Red-Ultraviolet (2) Red-Blue-Green-Ultraviolet

(3) Ultraviolet-Blue-Green-Red (4)  Ultraviolet-Green-Blue-Red
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frfafea 4 § %19 A1 %2 W wuersia & Tl € 1 6 gureeEl & fu e faator =1 98 Rn &
®?

o E,
]I.ka
, ’
6’2 S
5 km
(1) 0.95 (2) 1.45 (3) 1.63 4) 1.86

. Frefafea 9 @ sn-w §mew yia A e ST Ser g S0 S 3EH e S F IvER 39 W

HE FLA T ?
(1) THTI TR Y1 (2) THE g K
(3) @ b TH qR (4) TWIMTEH

orEed & wed e ¥ fafire € un o ey e @ Prefafiea § @ W@ we SR g2

(1)  ~ren-ga-ame e (2) Q- g RETH

(3) RIShTI-ren-gu-ar (4) WUSTH-gO-e-ae
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96. Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion {A) . Radars are Considered active sensors,

Reason (R) :  These sensors detect objects and their ranges using radio waves.
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

97. A set of sample of 20 places of mean annual rainfall were randomly selected from a normally
distributed universe that has mean annual rainfall of 320 cm. The sample mean was recorded
250 cm with standard deviation of 150 cm. Which one of the following significance tests is
correct for the selected samples ?

(1) Z - test (2)  x?- test (3) F - test (4) t-test

98. In a frequency distribution of X series having 6 integers with missing one, X;, among them,
the parameters of calculating mean, X, are as 3fx =370 (excluding frequency of missing
X; which is f;=10), 2f=158 (including frequency of missing integer) and X =7.586. Which
one of the following inters is approximately correct for missing X; ?

(1) 6 2) 7 3) 8 4 9

99. Which one of the following equations represents a true mathematical characteristics of

mean ?
(1)  ¥(X-X)=minimum (2) I(X-X)=0
(3) Z(X- X)=maximum (4) 3(X— X)=infinite

100. Which one of the following scales is correctly measure the rank-size distribution of
settlements ?

(1) Nominal (2) Ordinal (3) Interval (4) Ratio

-0 0-
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. e ) s few €, T sifirEmem (A) @R q@u ad (R) 71 S Re e g F § ol s gfag

AMUFIT (A) : TSR P! Ffepd Hadeh (HF) THI S B
T (R) : 4 e Wed ot =1 g 1d gu aegeli 3R 37 19 1 va @ €

(1) (A) 3R (R) 3 v & G901 (R), (A) 1 & sarem B

) (A) IR (R) 3 wE ¥ R (R), (A) &Y T8 =ren o §
(3) (A) W ¥, forg (R) 7o &

) (A) T B, TR (R) W&

T ®Y 9 foaia o gafie, et 320 .41, i it gite €, 9 20 Ml % U 79 9=
1 T T ) TR W gfte wie 250 |, du v e 150 9.4 e e ) s
yfeeel (HT) % foe Frefafia § ¥ SE-91 gewrgel T 3@ @ 2

(1) Z- e 2) ¥ -9 (3) F-udigm (4) t-adigo

6 Uil At X Hiftst % sTafa foaw # o o X, &1 99 76 e wan §, we X w6 o &
AFGE % B 8 k=370 (7E faw ww X, 1 sngfa # Sewt s =10 ®), 3f=58 (9 uiis
=t gfa wfeq) o X =7.586 fem mn @1 st X, & ferg Frafafas § @ 2 o gofe amm
T e ?

1 6 (2) 7 (3) 8 (4) 9

. fr=tafgs # 9 $F-91 gdE men w1 91 v fasom s s &2

(1) 3 (X=X)="g7aH 2) 3 (X=-X)=0
() 3 (X-X)=zAfemman 4) 3 (X- X)=2zmffm

frefafaa § 4 #i9-o e awEel ¥ {w-aes o & 9@ aa 02
(1) =t (i) (2) S (AfETA) (3) S (4) oI

~-000-
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